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Word problems

1. There are 131 children in Primary 6. In a packet there are 8 pencils. How many packets of pencils are needed for each child to have one pencil?
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2. We have sold 330 tickets for the school play. We are putting chairs out in rows of 6. How many rows is that?
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3. I have 38 eggs. I want to pack them in boxes of 6. How many boxes will I need?
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4. 24 children take off their shoes next to the bouncy castle. A dog comes and runs away with ¼ of the shoes. How many shoes are left?
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9 groups of 9 children go to a sports day. 7 are sick. How many children take part?
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6. A child has 15 bags of apples.  In each bag there are 6 apples.  If he shares them equally amongst his seven friends how many apples do they each have?
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7. Pete the DJ has one box of CDs which contains 127 and another box with 64 CDs. His friend Dave borrows 54 CDs. How many has Pete got left?
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I think of a number, add 2, then multiply by 3. The answer is 15. What was my number?
9. Bristol Rovers match day tickets cost £19 if bought on the day and £14 if   bought in advance. I want to book 10 tickets for our club. How much will I save if I book in advance?
10. [image: image9.wmf]a) If I have a jug of water with 800 ml, and I empty out 175 ml, how much water do I have left in the jug?

b) IF I then add on 85ml of water, what will be the new total of water in ml?
